[mean P, [GeV]

Ratio to ATLAS

N

1.8

1.6

1.4

1.2

0.8

0.6

0.4

[EEY

0.5

13000 GeV pp
L L T

Undelrlyjngl Event

. I L A R B L e 1
| Average P VS Ny, (nl<25,p >05GeV, p_>1GeV, (TRNSMIN)H
L m ATLAS _
[ —a— Pythia 8.308 default _
[~ ---&-- Pythia 8.308 default-CD B
— ----- Pythia 8.308 default-DL —
4 Pythia 8.308 default-MBR ]
| | [, | | | [, | L, | [ L, | | [ | ]
: T T T T | T T T T | T T T T | T T T T | :
B A —h—h—A—h—k e e —A |

......... I T R SO SO EU TR ST SR SR AN TR SR TR SR N
0 ) 10 15 20

N, (Trans-min)

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


